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FORX=1to 10

FORY=1to 10

IF gameBoard[X][Y] =

Do nothing

ELSE

CALL theCall(X, Y) (recursive method)

increment counter

END IF

END FOR

END FOR
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Set moveCount to 1

FOR each row on the board

FOR each column on the board

IF gameBoard position (row, column) is occupied THEN

CALL findAdjacentTiles with (row, column)

INCREMENT moveCount

END IF

END FOR

END FOR
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FOR all the number at the back of the array

SET Temp equal the addition of each number
IF > 9 THEN

get the remainder of the number divided by 10 to that index
and carry the "1"
Decrement one
Do it again for numbers before the decimal
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01 public class prime {
02 public static void main(String[] args) {
03 int var;
04 int counter = O;
05 for(inti=1;i<=100; i++){
06 for(intj=1;j<=1i;j++) {
07 var =i % j;
08 if (var == 0) {
09 counter++;
10 }
11 }
12 if (counter == 2) {
13 System.out.printin(i);
14
15 }
16
17 '}
18 }
19 1}
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